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QUESTION 1

Click the Exhibit button. 

In the exhibit, each IP subnet in the network is associated with a unique VLAN ID. Which action will ensure that Host C
will communicate with Host A and Host B? 

A. Configure an IRB interface for each VLAN and associate it with its corresponding VLAN 

B. Configure a port-based ACL that permits inter-VLAN routing for all configured VLANs 

C. Configure all switch ports connecting to the host devices as trunk ports associated with all VLANs 

D. Configure all switch ports connecting to the host devices as access ports associated with a common VLAN 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit button. 
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Based on the output shown in the exhibit, which statement is correct? 

A. This switch has been elected as the root bridge 

B. This switch has a bridge priority of 32k 

C. The ge-0/0/15 interface is using the default port cost 

D. The ge-0/0/9 interface is using the default priority value 

Correct Answer: A 

 

QUESTION 3

What are two advantages of a point-to-point OSPF adjacency? (Choose two.) 

A. Only a DR is elected. 

B. No type 1 LSAs are generated. 

C. No type 2 LSAs are generated. 

D. There is quicker neighbor establishment. 

Correct Answer: CD 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, what will be the IS-IS adjacency result of the configurations? 

A. No IS-IS adjacencies will form. 

B. A level 1 and level 2 IS-IS adjacency will form. 

C. A level 2 IS-IS adjacency will form. 

D. A level 1 IS-IS adjacency will form. 

Correct Answer: A 

 

QUESTION 5

What are two characteristics of OSPF ABRs? (Choose two.) 

A. ABRs transmit routing information between the backbone and other areas. 

B. ABRs cannot be part of the backbone and another area at the same time. 

C. ABRs inject routing information from outside the OSPF domain. 

D. ABRs link two OSPF areas. 

Correct Answer: AD 
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